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Answer all the questions

Wrong answers will be penalized.
I. Rename this file with your first and last name.

II. Only the answers on this word file will be graded.

III. Write your first and last name to the footer.
IV. Save the file on your computer (temporary directory of your computer)

V. ,α=0.05, unless otherwise mentioned.
VI. Do not forget to upload this word document to the system.

VII. Taking any (mobile) communication device to lab is considered act of cheating.

Write your name here : 
________________

Question 1(60 pts):  Use the Eviews file question_1.wf1.   Consider the following model
log(psoda) = β0 + β1  prpblck + β2  log(income) +  β3 prppov  + u
a. Test the presence of heteroskedasticity with the White test.

b. Assume that Var(u) = σ2 chain, test the presence of heteroskedasticity with the Parks test.

c. Assume that Var(u) = σ2 chain, test the presence of heteroskedasticity with the Goldfend&Quant test.

d. Assume that Var(u) = σ2 chain, test the presence of heteroskedasticity with the  Koenker-Basett Test. 

e. Assume that there is heteroskedasticity, then what is the OLS estimates with the right standard errors?

f. Assume that there is heteroskedasticity as in (b) , then what is the (F)GLS estimates?

g. Assume that Var(u) = σ2 (4 chain – compown)  , then what is the (F)GLS estimates?

h. Compare β3 estimates in 

· Conventional OLS, 

· estimates  in (e) 

· estimates  (g) 

in relevance and magnitudes

i. Compare t-stats for β3 estimates in 

· Conventional OLS 

· estimates  in (e) 

· estimates  (g) 

in relevance and magnitudes

Question 2 (40 pts): Consider the question_2.wf1 data set for the exam. Suppose we want to investigate the money spending behavior in the US.  Therefore, the regression equation can be specified as
M1t = b1 + b2 (Interest Rate: ffr)t  + b3 GDPt + b4 CPIt +b5 Q1t + b6 Q2t + b7 Q3t+ ut 
a) Perform the DW test for positive autocorrelation

b) Perform the DW test for negative autocorrelation

c) Perform the Breusch-Godfrey test to check the degree autocorrelation at 4 lags (not up to four lags)
d) Consider that p=2, then what is the (F)GLS estimation of the model?

e) What is the OLS estimate with right standard errors?

f) Compare b7 estimates in 
· Conventional OLS

· estimates  in (d) 

· estimates  (e) 

in relevance and magnitudes

g) Compare t-stats for b7  estimates in 

· Conventional OLS 

· estimates  in (e) 

· estimates  (g) 

in relevance and magnitudes
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